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B ESHARAT, BREERNERRNT, SO ANER, &
H‘Ji%lf']jiiﬁﬁ

How many -

How much---?

How old--:?

How long-+-?

How often---%

How far::-7

When/ At what time--

When/ On which day -?

ﬁ?@@ﬂ@? SRAWTHIE, EREA S, R, &8 EE—IHRE, I
Mg I BRI, FEEHNERE, FR L0 PERENER, fE. FE. K
| HIRHFSENIRREL,

b. 2R
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MR, XESHEUT N EEMANEERNRMN. EREIBRPTEEREEN R
B9 R B, W XHE R 3 R A, AR XS PRI T HE IR IR B E 1Y,
ﬁgﬁ R ARE XA

Where does this conversation ( most probably) take place?

Where are the speakers now?
Where is--from?
Where does the man/ woman ---?
What place---
Where have they been to?

ﬁﬁ?ﬁ%%ﬁ T AL G5 . 2R, T AR LRI b 3t R 4% 9] W A1 TR R 3
Wi EVTRIR RS, R SHES AR RN RAMAE, HERTRREHR;
B R F A A — SR, B4 —E BT ERIE R ZER B mAStE,
ARMEE e, BORHR F FERKME, £ INERE EZIT L IR I
RISHFHE .

c. N¥yk

APIEBRIERFESEABEX SEARE—THBOL . B HREA, X SmAZ
[B] K R, T STE P RN EZFNBL SR E, MR =E52FAZ
B RFRIRIE . W AR A

¢ What is the man/ woman?
Who is the man/ woman?
Who is the speaker?
What is the man’ s/ woman’ s profession/ occupation/ job?

What is the probable relationship between the man and the woman/ the two
speakers?
e Who ---7



TEVT WAL, Br THIRNERFR, £/EBEASEE AN O GERH.IK
M, WTTABHEEE Z B E KRR, RESE—POLHEXK T RIEILARE, TELHF
HIUE SRS ASBHRHREAS . GRFPAILEA—D A, Zirsk
BRSNS NF R, HEEE RGN, W “EERERT S50,
51, TEWT Z BRI B\ AA eI, X AR AR Bl

d. FHERK

HEWTS TR T 1 o R R — 2, X RRAHF AR OFR B BRI
HBEE B, A EARRUEERER , ERORIEXE R R R S, A 2 e,
EHHIVLE AR R SR VE RS, RE kB IERER; QEFIERK, BE
A2 B N BARRER, & & 5 OHERT K BIE £ 1 & XT what ZiH R 5 ( B8
2.) wwhy JRE IR AR AN XE R & R, XHEEBELIEE AR EREEE
FEREEE R B SR B FITSEETBRRENE. . FE & R A
mm\@r&%mﬁ%xo LB R A -

What does the man/ woman imply/ mean?

What can we learn/ infer/ conclude from the conversation?

What can be inferred from the man’s/ woman’ s responses/ reply?
What is the speaker’ s/ man’s/ woman’s attitude towards---?
What does the speaker/ man/ woman think of ---?

How does the speaker/ man/ woman feel about:--?

What conclusion can we draw from the speaker’ s/ man’s/ woman’ s state-
ment?

X F SR, EIERNARKRE, ZEEXEARWES GEE, Wik "%
T FEE TR, SRR RN, RSN, Btk s, ERR5IE R
RN, mEETRE,

e. FREE

R HE ESCH O B AR E B RBEHTRA BEREAEREY
T B O G A G TR EINE R, EERERAYEZENE, ¥R
AR IR 7 A -

e What is the main topic/idea of the dialogue/ passage?

e What (do you think) is the best title of the passage?

e  What is the most suitable title of the passage?

® What does the passage mainly talk about?

St FEMISEE , W Z AT EET, FOm T U7 3 A R AT BB 4R i 1 W e
B, EEFLALSRE, IMEFEREMKE, FHRRITAY, BEXENEER
ki, MEUTIERIEL, AR AT, FIRTE IR te.

f: 417K

4 2B X SR B R IET AW SR E S RETTRRA. R E
BRUAIRI RS, BTl B B ERAC T MK EERE, FEAERLH,
(B2, HERTFIIRBR DR, ¥ LR A

e What is the reason for:--?

® According to the passage, which of the following is TRUE/NOT TRUE ( men-
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tioned/not mentioned ) ?
According to the passage, which of the following is( not) the reason for::-?
How does sb. (the writer/speaker) feel about:-+?
What does the speaker/writer seem most concerned about?
Why is it necessary/ important for sbh. to do-:+?

X]“ﬂ:?iﬂwxéﬂ Ui AR K, IR RS m A ET BT ARRERFER
A, BEEICIE TR B A B FEEWARE, WEWERE A REBFHETEL,
FEER

2. &

(1) BRAA

AEAHF AR, FEZSELSEBBBEILENE.

%95 (15 3 : Reading Comprehension) : I35 =8 ECHR, BREX)E
A RARE, ERE ARG, AT I ORI 3 R EE R

B4 (5 f:Short Answer Questions) : HHTERE L BHETE—REGEHE
&SRR

(2) RoETy

a. PR3

BXHAEET IS, &M%, GRAHEY HERE BR/B¥E BEAE
& REAE RO KEEH ASHES, FEFE FRER AREHE.A
ICACC LIS BB . HiRE AR 43 £ B8 40158 R, 1 U
BAEE WA S GBS, flan.

a) LB

ST EEEL A RBFEAFITEEXNEBERRE, BIPL0BE, £BER

ﬁﬁiﬂ‘]ﬂi@i’%lﬂo %Lﬂﬂﬁlﬂﬁﬁﬁ
The main idea of this passage is--
The article is mainly about--
What does this passage mainly talk about?
What is the main topic of this passage?

The best title for this passage is-
Which of the following best summarizes the theme of the passage?

JX?S@B’J%%E ARMAERLEE, POBEREEREINERGBE, BRREF
ACREAR, BRESCRTERE RS KRR, HABEIE MR I B AT, A B T E B e
B EA KHACR, REHTEERMEE, e, BREXENSL, BR/E
BEBRENT L,

b) 4

MY B EELESERTREIAZ I CEP O FE, —Bokik, EE
B EE LA X AY 4 A b A R BOCHE S R B AR A M o LR 4R )
AF:

o Where---?

® Who:-?
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When---?
Why-+-9
How---?
e What---?
X FREEE, FESEENIAESCES, A4 ] 78 R AT 40 B 8 R k0,
FEF B RN KR G, REHE R B SOh T A BIR R, MBI NBER,

TERRSE , EfeEEREE)E, EEFEIUE B S RTIAEHEITXE, Lk
R
c) ffEHEH

B ) SRR A R R R, R R — R, BESRFAER
PEXEPRENER, BARMEEHTHRE 5, DEELmERL3,
Eﬁ%%Aﬁﬁ%i%o WP T A
It can be inferred from the passage that--

It can be concluded from this passage that
Where would this passage most probably come from?
The purpose of this passage is*+

The author implies that--
The author apparently suggests that--

ﬁﬂ@%ﬁﬁ %T%Eﬁﬁiﬁ*&ﬂfﬁhwﬁU%ﬁ%mﬁm% e
SCAHT RARAE, PRI R AR A o FEMSUHERERT, A Y E LRI X E A
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B EEFEUBIEE SRS SEEE A,

d) i &

1 OB PRI 52 5 A AE 5 1 5 R85 Pl S B B 4 B I RE T

R 7 A -

® In paragraph---line---, what does the word “---” refer to?

®  Which of the following is the phrase “---” in paragraph---line---the closest in
meaning?

® The word “---” in paragraph---line:-- means---

® The expression “---” in -+ refers to-+-?7
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] X
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o) FEEVLE S U |
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W IR OB R bRAE BGE 1, R SCE PR R RE S E AL 5
o %‘E%%lﬂﬁ—ﬁﬁ
The author’ s attitude towards---can be best described as-
The tone of the author is-

The author believes---

In the author’ s opinion, --*
According to the author, ---

Xﬂ‘lﬂ:?@@ EEEXEREMERM b, IFFTRMARR . —BKR,
HES0 R AT AR SCEE P BT A M TE SR TE B B ) F 5 WL — D ARYHAIT ., HER
FiE L, B AR E I X A B AR A ERRE, FERE, FLEAFTE
i, YRR AR

b. X [EE

47 3 [E 2 B SR TR A MEE b A TR . BN ER AR R 3O, B RS
Kbl H O ALUE S AT 0 R, 3F B, FA RS F 5 — B SRR+
DL, X A R BEAR R4 RE H1 3R T kAR, BN RE R B i i 1R REAN DR 3 SR AR
H o L B4R R B B R B L, R B, SX RS O BB TS , T S B IR B A Y o T
SR, A 7 S PR S R, 5 A S X AT B R

3. ML 548#

(1) ERANAR

A AN 5454 R (30 B : Vocabulary and Structure) : & 7E5% 255 4 %t
YOEED AR — S EARR TR EREEFR. SEANNER, BRELE
R T 45 B9 D AR T P ) B A T

(2) NREETS
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4. FHER

(1) BEEIAR

SEIGAEZS (20 HH: Cloze) : X ERBAZENEBESBEHEN. E—REXT
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5. W EE

(1) AN

P54 (Correction) , #B433E 10 B, TEOEHE ENIBEREF MR T 5
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P (Translation) #4513t 5 B, ERGESE LK B EBIEES .

(2) RE BTG

a. PRAIECHE

FARAEFRBEH R, 5 A2 PR T A B EARE TR ST B N T A Y
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b. BHFE(DEZ)

BB TR, B, A MBS A E MR B R ), DR A T4
A X R IR BRI . BT 1B A B4 ) 7 R L ST R R A 3R
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Hu5E B

6. 54

(1) RN

BAE(Writing) : ZRFBAETE 30 5380, B H—5 80 MR ZEA BFESC( R
YEIE—RAECFHER 80 24, =4 90, =4 100, JU% 120) , VX —MA B
FH3C B8 S SRS BGE SCRIE R AE S,

a. W3

N RSCR] A AL B 5 SRR A G RFEA, —EEHmEN, EXR
EEAREIET BN, HEEEX, TIENARE—RFH.

b. B

AR AR ARF N, ERETHRER ADAFENSRER, CaE5H
EM%E, BEREER-BRRIENIEEIE—RIME T SifEERN, M4 d
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c. #EX

HEXRARESEY AR EADREMNRA, EERAIES MR E
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PATR [ MODEL TESTS
TEST ONE

Part | Listening Comprehension (25 minutes)

Section A

Directions : In this section, you will hear 10 short conversations. At the end of each con-
versation, a question will be asked about what was said. The conversation and the ques-
tion will be spoken twice. After each question, there will be a pause. During the pause,
you must read the four choices marked A, B, C and D, and decide which is the best an-
swer. Then you should mark the corresponding letter on the Answer Sheet with a single
line through the center.

1. A. Wonderful. B. Terrific. C. Boring. D. Special.
2. A. Tea. B. Pure water. C. Orange juice. D. Coffee.
3. A. Blue. B. Yellow. C. Gray. D. Red.
4. A. Four weeks. C. Four months.
B. Four days. D. Four and a half days.
5. A. Sally. B. George. C. Tom. D. Lisa.
6. A. It is raining outside. C. It is sunny outside.
B. It is windy outside. D. It is cloudy outside.
7. A. Wednesday. B. Saturday. C. Friday. D. Thursday.
8. A. Yes, he did because it was not cold yesterday.
B. Yes, he did because he was free yesterday.
C. No, he didn’t because he wasn’t free yesterday.
D. No, he didn’ t because it was so cold yesterday.
9. A. 700 yuan. B. 100 yuan. C. 500 yuan. D. 200 yuan.
10. A. 7:15. C. The time isn’t fixed.
B. 7:35. D. 8:00.
Section B

Directions ; In this section, you will hear a long conversation. At the end of the conversa-
tion, 5 questions will be asked about what was said. The conversation and the question
will be spoken twice. After each question, there will be a pause. During the pause, you
must read the four choices marked A, B, C and D, and decide which is the best answer.
Then you should mark the corresponding letter on the Answer Sheet with a single line
through the center.



Questions 11 to 15 are based on the conversation you have just heard.

11. A. Staying at home. C. Reading love story.

B. Seeing the film. D. Going out for a walk.
12. A. Positive. B. Negative. C. Neutral. D. Hostile.
13. A. A cartoon. C. A Love story.

B. A science fiction. D. A comedy.
14. A. At 7:00. B. At 7:30. C. At 8:00. D. At 8:30.
15. A. From the cinema. C. From the magazine.

B. On the television D. In the newspaper.

Section C

Directions : In this section, you will hear 2 passages. At the end of each passage, you will
hear some questions. Both the passages and the questions will be spoken twice. After you
hear a question, you must choose the best answer from the four choices marked A, B, C
and D. Then you should mark the corresponding letter on the Answer Sheet with a single
line through the center.

Passage 1
Questions 16 and 17 are based on the passage you have just heard.
16. A. The Chinese. C. The Japanese.

B. The Americans. D. The Europeans.
17. A. 300 thousand. C. 400 thousand.

B. 300 million. D. 400 million.
Passage 2

Questions 18 to 20 are based on the passage you have just heard.

18. A. Good driving can only be learned by a lot of practice.
B. Good driving can only be learned by a strong desire.
C. Good driving is a natural gift to a driver.
D. Both A and B.

19. A. The hood.
B. The road behind them.
C. Objects on each side of them.
D. The road ahead of them and behind them.

20. A. Anxiety. C. Distraction.
B. Concentration. D. Tiredness.

Part I Reading Comprehension (35 minutes)

Directions: In this section, there are 4 passages followed by some questions or incomplete
sentences. For the first 3 passages, choose the best one from the four suggested answers
marked A, B, C and D. Then mark the corresponding letter on the Answer Sheet. For
the fourth passage, answer the questions in the fewest possible words. Then write the an-
swer on the Answer Sheet.

.10 -



Passage 1

Why do people smoke? One reason is that people become addicted to cigarettes. To
be addicted means that your body comes to need them. The addictive substance in ciga-
rettes is nicotine. When people smoke, the nicotine goes right into the blood and makes
people feel relaxed. A smoker’s body gets used to the nicotine and if he stops smoking,
he feels nervous.

Another reason is that people simply enjoy smoking. Having a cigarette for many
people means taking a rest. Some people, for example, enjoy a cigarette after dinner.
Many people enjoy smoking because it gives you something to do with your hands.

Many people also like the taste of tar in cigarettes. However, it’ s the tar that causes
cancer. While governments and health experts have tried to get people to give up smoking
entirely, cigarette manufacturers have tried to keep catching them by producing cigarettes
with less tar. Many people have welcomed the cigarettes since they find it hard to stop
smoking but want to reduce the danger to their health.

21. One of the reason for smoking is that

A. people become addicted to cigareites.

B. smoking isn’t as harmful as we used to think.

C. many people prefer the smell of nicotine.

D. our bodies need nicotine in cigarettes.

22. Once an addicted smoker stops smoking, he feels

A. cheerful B. pleased C. nervous D. disappointed
23. “Tar” is a kind of substance in cigarettes which can cause .
A. flu B. cancer C. hepatitis D. SARS

24. The word “catching” in the last paragraph means .
A. sniffing B. detecting C. attracting D. preserving
25. Since it is difficult for many people to stop smoking, the probable solution may lie in

A. producing cigarettes without nicotine

B. producing cigarettes without tar

C. producing cigarettes without nicotine and tar

D. producing cigarettes with less tar
Passage 2

A special research team performed experiments on the completely blind infants. The
best sample included twenty completely blind infants, who lived at home with their moth-
ers or family. The research workers would visit the infants and closely observe the devel-
opments of their sense and behavior every two weeks. In most cases, the research workers
tested the response of the blind infant to different stimuli common in the family environ-
ment.

Generally speaking, a normal baby would react with smiles and laugher to tickling,
to the voice of a relative, and to hugging from his family. His reactions were swift and
fleet. Nevertheless, most of the blind infants, according to the experiments, responded to

- 11 -



stimuli impassively. In fact, they were indifferent to any sound. But under some special
circumstances, some of them were able to react to the sound of their mothers with a
smile. Usually, their responses were very slow. The tests were conducted over a nine-
month period, and they began when the blind infants were one month old and ended when
they were ten month old.

26. The experiments mentioned in the passage are done on

A. a special research C. blind persons
B. blind children D. mute infants
27.  completely blind infants are took as the best sample.
A. A lot of B. Twenty C. A few D. Ten

28. The purpose of the test is to know
A. the response of normal babies to stimuli
B. the response of blind infants to smiles
C. the response of different babies to smiles
D. the common response of blind infants to stimuli
29. The researchers found most blind infants responded to stimuli .
A. swifily B. actively C. impassively D. fleetly

30. The test lasted for
A. nine months B. ten months C. nine weeks D. ten weeks
Passage 3

Many people think of schools as buildings, teachers and students. Proprietary
schools, however, think first of the students. They are interested most in satisfying their
customers, the students. Proprietary schools are privately owned vocational schools. To
remain in business, they must give students what they want to learn at a fair place. The
students themselves normally pay for the cost of the training. Thus, the school must offer
the training that is practical and that will help students get a paying job.

Proprietary schools emphasize applied rather than theoretical knowledge. They often
are willing to experiment with new ideas in their teaching. The teachers themselves come
from the real world of work. Most of them are professionals, and they know what the
students will need on the job. Courses are given in short segments. This helps give the
student a sense of accomplishment. As a result, most of the students get a good job, and
this can be a success in education.

31. According to the passage, proprietary schools are .

A. a private university C. a public middle school
B. a private vocational school D. a public university
32. The interest of proprietary schools lies in .
A. satisfying their teachers C. satisfying their students
B. satisfying their owners D. satisfying their parents
33. Normally, pay for the tuition fee in proprietary schools.
A. the students themselves C. the students’ parents
B. the government D. the owners of the proprietary schools
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